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 RENFORCEMENT (1)  
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 RENFORCEMENT (2)  

1 m =      …… dm 1 dm =      …… mm 

1 cm =   ……  mm 1 km =      …… m 

1 km =     …… hm 1 hm =     …… dam 

1 dam =   …… m 1 dm =     …… cm 

1 m =       ……  cm 1 hm =     …… m 

Convertis à l’aide du tableau de conversion 

3 km =            …… m 20 km =        …… m 

5 hm =            …… m 10 m =          …… cm 

4 dam =          …… m  3 000 m  =   …… km 

3 000 mm  =  …… m 20 000 m  =  …… km 

4 000 cm  =   …… m 200 cm  =      …… m 

Convertis à l’aide du tableau de conversion 

34 m =           ……. dm 400 cm =      40 ……. 

87 dam =       ……. dm 1050 dm =   …….   cm 

56 m =           ……. cm 65 m 2 dm = ……. dm 

3 m 90 cm = ……. dm 7 dm =           700 …. 

9 m =             ……. mm  

Convertis à l’aide du tableau de conversion 

Convertis à l’aide du tableau de conversion 

10 m 4 dm = ……. cm  230 dam =   ……. m 

5 km 3 hm = ……. cm 64 dm =         ……. cm 

70 dm =         ……. m 26 hm =         ……. dm 

47 m =           ……. dm 7 000 cm =    ……. dm 

12 dam 4 m = …. dm 78 m 2 dm = …….  dm 

5 km 4 hm =  …… dam 45 dam =       …….. dm
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RENFORCEMENT (1) - correction  
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RENFORCEMENT (2) - correction  

1 m =       10 dm 1 dm =      100 mm 

1 cm =     10 mm 1 km =      1 000 m 

1 km =     10 hm 1 hm =     10 dam 

1 dam =   10 m 1 dm =     10 cm 

1 m =       100  cm 1 hm =     100 m 

Convertis à l’aide du tableau de conversion 

3 km =           3 000 m 20 km =        20 000 m 

5 hm =           500 m 10 m =          1 000 cm 

4 dam =         40 m  3 000 m  =   3 km 

3 000 mm  = 3 m 20 000 m  =  20  km 

4 000 cm  =  40 m 200 cm  =      2 m 

Convertis à l’aide du tableau de conversion 

34 m =          30 dm 400 cmm = 40 dm 

87 dam =      8700 dm 1050 dm = 10 500 cm 

56 m =           5 600 cm 65 m 2 dm = 652 dm 

7 dm =          700 mm 3 m 90 cm = 39 dm 

9 m =              9 000 mm  

Convertis à l’aide du tableau de conversion 

Convertis à l’aide du tableau de conversion 

10 m 4 dm =  1040 cm  230 dam = 2 300 m 

5 km 3 hm = 530 000 cm 64 dm = 640 cm 

70 dm = 7 m 26 hm = 26 000 dm 

47 m = 470 dm 7 000 cm = 700 dm 

12 dam 4 m = 1 240 dm  78m 2dm = 782 dm 

5 km 4 hm = 540 dam 45 dam = 4 500 dm  


